	Fluency 

Draw arrays to work out the answer
1) 8 x 7 =
2) 9 x 5 =
3) 13 x 3 =
4) 11 x 4 =
5) 7 x 9 = 
6) 12 x 5 =
7) 12 x 9 =
8) 8 x 8 =

	Problem Solving

9) There are 8 loaves of bread on each shelf. There are 6 shelves. How many loaves of bread are there?
10) There are 9 fish tanks and 7 fish in each tank. How many fish are there altogether?
11) There are 12 pots. In each pot there are 7 pencils. How many pencils are there in total?

	Reasoning
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	Fluency 

Draw arrays to work out the answer
1) 6 x 7 =
2) 9 x 3 =
3) 11 x 9 =
4) 8 x 5 =
5) 9 x 4 =
6) 12 x 8 =
7) 7 x 12 =
8) 10 x 9 = 

	Problem Solving









	Reasoning
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	Fluency 

Draw arrays to work out the answer
1) 6 x 11 =
2) 9 x 9 =
3) 2 x 9 =
4) 5 x 5 =
5) 12 x 4 =
6) 6 x 8 =
7) 7 x 7 =
8) 10 x 4 =

	[image: ]Problem Solving


	Reasoning
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PowerPoint Presentation

multiplying by 8 in different ways, when 8 is the multiplier (first _ x8=___
number in the multiplication calculation) and where 8 is the If there are ___ spiders, there will be ___ legs altogether.

multiplicand (second number).
] %i Arrange 24 counters in an array as

. shown and complete the calculations.
Mathematical Talk

How many equal groups do we have?
How many are in each group?

How many do we have altogether? I Fillin the table to show that multiplying by 8 is the same as double,
Can you write a number sentence to show this? double and double again.
Can you represent the problem in a picture? 5 5 5 6
Can you use concrete apparatus to solve the problem?
How many lots of 8 do we have?

How many groups of 8 do we have?

We have 8 groups, how many are in each group?

4= x

6x2= 6x2=

Ownite Rose Maths

Year 3| Autumn Term | Week 9 to 11 - Number: Multiplication & Division

Multiply by 8

Reasoning and Problem Solving
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Reasoning and Problem Solving

2x2x2x3=___

What do you notice?
Why do you think this has happened?

Jack calculates 8 x 6 by doing
5 6and 3 x 6 and adding them.
v =

Ron calculates 8 x 6 by doing
4x6x2

_x2=__

Whose method do you prefer?
Explain why.

O Type here to search

Start each function machine with the
same number.

0000
5

What do you notice about each final
answer?

Tommy knows the 4 times table table,
but s still learning the 8 times table
table.

Which colour row should he use? Why?

Ownite Rose Maths
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PowerPoint Presentation

Children use prior knowledge of multiplication facts for 2,3,4 Ml Complete the diagram using known facts.
and 5 times tables along with the distributive law in order to
calculate unknown multiplication facts. 5x 8=

Q
6x8 <UX 8= sxs|®
—— 0

0

0

altogether ()

00
00
00
00
aQ
o0

W Complete the bar model.

Mathematical Talk

Why s it helpful to partition the number you are multiplying
by? W Complete the table.

Can you use concrete or pictorial representations to helpyou?

What other facts can you link to this one?

What other times tables will help you with this times table?

Can you spot a pattern in the numbers?

Ownite Rose Maths

Year 3| Autumn Term | Week 9 to 11 - Number: Multiplication & Division

O Type here to search i Baneso




image11.png
2 Signout X | % Year3Vear Group Blog 2019-A X | % Primary S

C @ wrm-13b48.kxcdn.com/wp-content/uploads/2019/SoLs/Primary/Autumn2019-20/Year-3-Autumn-Block-3-Number-Multiplication-and-Division.pdf * @ 6

PowerPoint Presentation

The 8 Times Table

Reasoning and Problem Solving

. Rosie has some packs of cola which are
All the numbers in the 8 in a box.
times table are even.
Some packs have 4 cans in them, and
Explain why some packs have 8 cans in them.

On a blank hundred square, colour
multiples of 8 red and multiples of 4 blue.
Rosie’s box contains 64 cans of pop.
Always, Sometimes, Never How many packs of 4 cans and how
?
« Multiples of 4 are also multiples of 8 many packs of 8 cans could there be

« Multiples of 8 are also multiples of 4 Find al the possibilties.
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PowerPoint Presentation

The 8 Times Table

Reasoning and Problem Solving

. Rosie has some packs of cola which are
All the numbers in the 8 in a box.
times table are even.
Some packs have 4 cans in them, and
Explain why some packs have 8 cans in them.

On a blank hundred square, colour
multiples of 8 red and multiples of 4 blue.
Rosie’s box contains 64 cans of pop.

Always, Sometimes, Never

How many packs of 4 cans and how
« Multiples of 4 are also multiples of 8 many packs of 8 cans could there be?

« Multiples of 8 are also multiples of 4 Find al the possibilties.
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7 Times Table Activities

Count in 7s and colour in the grid: Work out these answers:
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1x1=1
2x1=2
3x1=3
4x1=4
5x1=5
6x1=6
7x1=17
8x1=8
9x1=9
10 x1=10
Mx1=1
12x1=12

7x table

1x7=17
2x7=14
3x7=21
4 x7=28
5x7=35
6x7=42
7x7=49
8 x7=56
9x7=63
10 x7=70
Mx7=77
12 x7 =84

2x table

1x2=2
2x2=4
3x2=6
4x2=8
5x2=10
6x2=12
7x2=14
8x2=16
9x2=18
10 x 2 = 20
11 x2=22
12x 2 =24

8x table

1x8=8
2x8=16
3x8=24
4 x 8 =32
5x8=40
6 x 8 =48
7 x 8 =56
8 x 8 = 64
9x8=72
10 x 8 = 80
11 x 8 = 88
12 x 8 =96

3x table

1x3=3
2x3=6
3x3=9
4 x3=12
5x3=15
6 x3=18
7x%x3=21
8x3=24
9 x 3 =27
10 x 3 = 30
11 x3=33
12 x 3 =36

9x table

1x9=9
2x9=18
3x9=27
4 x9=36
5%x9=45
6 x9 =54
7%x9=63
8x9=72
9 x 9 =81
10 x 9 = 90
11 x9 =99
12 x 9 =108

4x table

1xb4=4
2x4=8
3x4=12
Lx4=16
5 x4 =20
6x4=24
7x4=28
8 x4 =32
9 x4 =36
10 x 4 = 40
1M x64 =44
12 x 4 = 48

10x table

1x10=10
2x10 =20
3x10 =30
4 x 10 = 40
5x 10 = 50
6 x 10 = 60
7%x10 =170
8 x 10 = 80
9 x10 =90

10 x 10 = 100

11 x 10 = 110

12 x 10 = 120

5x table

1x5=5
2x5=10
3x5=15
4 x5 =20
5x5=25
6 x5 =30
7x5=35
8 x5 =40
9x5=45
10 x 5 =50
11 x 5 =55
12 x 5 = 60

1x11=11
2x11=22
3x11=33
4 x11 =44
5x11 =55
6 x 11 =66
7x11 =177
8 x11 =88
9 x 11 =99

10 x 11 = 110
11 x 11 =121
12 x 11 = 132

6x table

1x6=6
2x6=12
3x6=18
4 x6=24
5x6 =30
6 x6=36
7x%x6=42
8 x 6 =48
9x6=54
10 x 6 = 60
11 x 6 = 66
12x6=72

1x12=12
2x12=24
3x12=36
4 x12 = 48
5x12 = 60
6 x12=72
7%x12 = 84
8 x12 =96
9 x 12 =108
10 x 12 = 120
11 x 12 = 132
12 x 12 = 144
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Ownite Rose Maths

Year 3| Autumn Term | Week 9 to 11 - Number: Multiplication & Division

Multiply by 4

Notes and Guidance Varied Fluency

Building on their knowledge of the two times table,children @ Match the multiplication to the representation, o
multiply by 4

They link multiplying by 4 to doubling then doubling again.
Children connect multiplying by 4 to repeated addition and
counting in 4s.

To show the multiplication of 4, children may use number
pieces, cubes, counters, bar models etc.

Mathematical Talk I How many dots are there altogether?

How many equal groups do we have? D D D [

How many are in each group?
How many do we have altogether? There are ___dice with _dots on each.
Can you write a number sentence to show this? There ___fours.
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PowerPoint Presentation
3x4=

Continue the pattern.

Mathematical Talk

B 2 cars have eight wheels. How many wheels do four cars have?

What do you notice about the pattern? 2x4=8 axd=__

Three cows have 12 legs. How many legs do six cows have?
Ix__=12 6x__ =

Can you use concrete or pictorial representations to helpyou?

What other facts can you link to this one?
W Colour in the multiples of 4
What other times tables will help you with this times table? What pattern do you notice?

Year 3| Autumn Term | Week 9 to 11 - Number: Multiplication & Division

The 4 Times Table

Reasoning and Problem Solving

O Type here to search i BB 0




image5.png
22 Sign out X | % Year3YearGroup Blog 20194 X | B Primary SOL| White Rose Math X 2 PawerPaint Presentation x o+ = x

C @ wrm-13b48.kxcdn.com/wp-content/uploads/2019/SoLs/Primary/Autumn2019-20/Year-3-Autumn-Block-3-Number-Multiplication-and-Division.pdf * @ 6

PowerPoint Presentation

Multiply by 4
Reasoning and Problem Solving

Tommy has four bags with five sweets in € Here is a blue strip of paper.

each bag.

Annie has six bags with four sweets in

each bag. An orange strip is four times as long.
Who has more sweets?

How many more sweets do they have? The strips are joined end to end,

Draw a picture to show this problem. -

20 cm

How long is the blue strip?
How long is the orange strip?

Explain how you know.
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